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Translation in English

Sub: Social Problems in India (Part-1) (sc-101)

Instructions:  Attempt all questions.

Q.1.  Answer in detail (Any Two) (40)
1. Explain perspectives on the cause of social problems.
2. State problems arised due to population growth.
3. Define poverty and unemployment. Write causes of poverty and unemployment in
India.

4. State the causes of prostitution.

Answer in brief (Any Three) (30)
Which are the factors responsible for migration?

Write causes of population growth in India.

Functioning of the family courts.

Define family disorganization and enumerate its causes.

g~ W N PN

Write problems of aged.

Write short notes (Any Two) (30)
Why in traditional Indian society social problems were fewer?
Measures suggested controlling population growth in India.

Illustrate effects of divorce.
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Problems in rehabilitation of prostitutes.
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